
Quartz Crystal Feedthroughs and Sensors

The current version of this drawing pdf can be found at 

https://telemark.com/shop/product-category/quartz-crystal/

Drawing Rev. Description Page

FEEDTHOUGHTS

880-2100-1 A Single, 1" Bolt, Microdot to BNC 2

880-2100-2 A Single, 1" Feedthru, UT 3

880-2100-4 A Single With Shutter, 1" Feedthru, UT 4

880-2100-5 A Dual With Shutter, 1" Feedthru, UT 5

880-2100-6 A Dual Single Sensors, W/O Shutter, 1" Bolt, 6

880-2100-7 A Single with Shutter, 1" Feedthru 7

880-2100-8 A Dual with Shutter, 1" Bolt, Microdot 8

880-2101-5 A1 Dual With Shutter, 1" Feedthru, BNC 9

880-2101-6 A Feedthru, NW-40, Single 10

880-2300-5 A Dual with Shutter, 1.25" Bolt, Microdot, UT 11

880-2300-7 A Assembly, 1.25" Bolt, Single with Shutter 12

880-2301-0 A Single, 1.25" Bolt, UT 13

880-2301-1 A Dual with Shutter, 1.25" Bolt, BNC, UT 14

880-2301-3 A Assembly, Feedthru, Single 1.25" Bolt 15

880-2301-4 A Single with Shutter, 1.25" Bolt, UT 16

880-2301-5 A Dual with Shutter, 1.25" Bolt, 3/16" Diameter Tube 17

880-2400-2 A Single, 2-3/4" CFF, UT 18

880-2400-8 A Sensor Feedthru, Single with Shutter, 2-3/4" CFF, 19

880-2401-5 A Sensor feedthru, Dual with Shutter, 2-3/4" CFF, UT 20

SENSORS Reference Dimensions

880-3010-1 A Single Parallel Sensor, Bakeable 21

880-3020-1 A Single Right Angle Sensor 22

880-3030-1 A Dual Sensor with Shutter 23

880-3110-1 A Single Parallel Sensor 24

880-3120-1 A Single parallel sensor with shutter 25

880-3130-1 A Single Right Angle Sensor 26

880-3130-6 A Right Angle Sensor Assembly, 3/16" Tubes 27

880-3210-1 A Dual parallel sensor w/shutter 28

880-3220-1 B Dual right angle sensor w/shutter 29

SENSORS Assemblies

880-3010-1 B Single Parallel Sensor, Bakeable 30

880-3015-1 C Single Parallel Sensor, Bakeable, Shutter 31

880-3020-1 A Single Right Angle Sensor 32

880-3030-1 C Dual Sensor with Shutter 33

880-3045-1 C Single Parallel Sensor, Bakeable, Shutter on 4.5CFF 34

880-3110-1 D Single Parallel Sensor 35

880-3120-1 C Single parallel sensor with shutter 36

880-3130-1 E Single Right Angle Sensor 37

880-3130-6 C Right Angle Sensor Assembly, 3/16" Tubes 38

880-3140-1 C Right Angle Sensor Assembly, 3/16" Tubes with shutter 39

880-3210-1 D Dual parallel sensor w/shutter 40

880-3220-1 D Dual right angle sensor w/shutter 41

880-3221-1 C Dual right angle sensor w/shutter, 3/16" Tubes 42

5/21/2020

https://telemark.com/shop/product-category/quartz-crystal/


 5.00 

 12.00 

 2.00 

BNC CONNECTOR

MICRODOT
CONNECTOR

3/16” DIAMETER
TUBES

1” BOLT FEEDTHROUGH
(1) MICRODOT TO BNC CONNECTOR
(2) 3/16” DIAMETER TUBES

63

SINGLE, MICRODOT TO BNC,
1" BOLT, (2) x 3/16" TUBES

REVDWG NO.

R880-2100-1B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-13-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.00 

 6.00 

BNC CONNECTOR

MICRODOT
CONNECTOR

1/8" COMPRESSION
FITTINGS

63

1" BOLT FEEDTHROUGH
(1), MICRODOT TO BNC CONNECTOR
(2), 1/8" COMPRESSION FITTINGS

SINGLE, 1" BOLT,
1/8" UT

REVDWG NO.

R880-2100-2B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-20-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 7.13 

 2.00 
1/8" COMPRESSION
FITTINGS

BNC CONNECTOR

MICRODOT
CONNECTOR

1" BOLT FEEDTHROUGH
(1) MICRODOT TO BNC CONNECTOR
(3) 1/8" COMPRESSION FITTINGS SINGLE WITH SHUTTER

1" FEEDTHRU, UT
REVDWG NO.

R880-2100-4B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-20-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 7.65 

 2.00 
1/8" COMPRESSION
FITTINGSMICRODOT

CONNECTOR

MICRODOT
CONNECTOR

63

1" BOLT FEEDTHROUGH
(2) MICRODOT TO MICRODOT CONNECTORS
(3) 1/8" COMPRESSION FITTINGS

DUAL WITH SHUTTER, 1"
FEEDTHRU, MICRODOT, UT

REVDWG NO.

R880-2100-5B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-20-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.000  .65 

 2.93 

MICRODOT
CONNECTOR

MICRODOT
CONNECTOR

1" BOLT FEEDTHRU
(2) MICRODOT TO MICRODOT
(4) 3/16" DIAMETER HOLES

63

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

DUAL SINGLE SENSORS
W/O SHUTTER, 1" BOLT,

3/16" LINES, MICRODOT
REVDWG NO.

R880-2100-6

Battle Ground, WA

A SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

                INCHES    [ mm]
.XX       +/- 0.03       [ .762 ]
.XXX     +/- 0.01       [ 0.254 ]
.XXXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-21-2018

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E

1

2

3

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     



 2.00  5.00 

 12.00 

BNC CONNECTOR

MICRODOT
CONNECTOR

3/16" DIAMETER
TUBES

1" BOLT FEEDTHROUGH
(1) MICRODOT TO BNC CONNECTOR
(3) 3/16" DIAMETER TUBES

63

SINGLE WITH SHUTTER,
1" FEEDTHRU

REVDWG NO.

R880-2100-7B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-30-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.00  5.00 

 12.00 

MICRODOT
CONNECTOR

MICRODOT
CONNECTOR

3/16" DIAMETER TUBES

1" BOLT FEEDTHROUGH
(2) MICRODOT TO MICRODOT CONNECTORS
(3) 3/16" DIAMETER TUBES

63

DUAL WITH SHUTTER,
1" BOLT, MICRODOT

REVDWG NO.

R880-2100-8B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-13-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.50 

 4.50 

 5.38 

 2.00 

 12.00 

 .250 
MICRODOT
CONNECTOR

BNC CONNECTOR

3/16" O.D. TUBES

63

1" BOLT FEEDTHROUGH
(2) MICRODOT TO BNC CONNECTORS
(3) 3/16" O.D. TUBES DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

A11

FILE NUMBER        - 
INITIAL PROJECT  -

6-20-2014G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc R880-2101-5
DWG NO. REV

DUAL WITH SHUTTER,
1" FEEDTHRU

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4



 2.00 

 2.50 

 3X 6.38 

 3X 3.63 

 12.00 

 4.50 

BNC CONNECTORMICRODOT
CONNECTOR

3/16" O.D. TUBES

1" BOLT FEEDTHROUGH
(2) MICRODOT TO BNC CONNECTORS
(3) 3/16" O.D. TUBES

63

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 1

FILE NUMBER        - 
INITIAL PROJECT  -

880-2101-6
 

8-13-2014G. DION DATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc R880-2101-6
DWG NO. REV

A

DUAL WITH SHUTTER,
1" FEEDTHRU

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4



 7.65 

 2.00 

1/8" COMPRESSION
FITTINGS

MICRODOT
CONNECTOR

MICRODOT
CONNECTOR

63

1.25" BOLT FEEDTHROUGH
(2) MICRODOT TO MICRODOT CONNECTORS
(3) 1/8" COMPRESSION FITTINGS

DUAL WITH SHUTTER, 1.25"
FEEDTHRU, MICRODOT, UT

REVDWG NO.

R880-2300-5B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-25-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 5.00  2.00 

 12.00 

BNC CONNECTOR

MICRODOT
CONNECTOR 3/16" DIAMETER

TUBES

1-1/4" BOLT FEEDTHROUGH
(1) MICRODOT TO BNC CONNECTOR
(3) 3/16" DIAMETER TUBES

63

ASSEMBLY, 1.25" BOLT, SINGLE
WITH SHUTTER

REVDWG NO.

R880-2300-7B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 7-2-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 6.00 

 2.00 

1/8" COMPRESSION
FITTINGS

BNC CONNECTOR

MICRODOT
CONNECTOR

63

1-1/4" BOLT FEEDTHROUGH
(1) MICRODOT TO BNC CONNECTOR
(2) 1/8" COMPRESSION FITTINGS

SINGLE, 1.25" BOLT,
1/8" UT

REVDWG NO.

R880-2301-0B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-24-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.00 

 7.13 

1/8" COMPRESSION
FITTINGS

BNC CONNECTOR

MICRODOT
CONNECTOR

63

1.25" BOLT FEEDTHROUGH
(2) MICRODOT TO BNC CONNECTORS
(3) 1/8" COMPRESSION FITTINGS

DUAL WITH SHUTTER,
1.25" FEEDTHRU, UT

REVDWG NO.

R880-2301-1B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-26-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 5.00  2.00 

 12.00 

BNC CONNECTOR

MICRODOT
CONNECTOR 3/16" DIAMETER

TUBES

1-1/4" BOLT FEEDTHROUGH
(1) MICRODOT TO BNC CONNECTOR
(2) 3/16" DIAMETER TUBES

63

ASSEMBLY, FEEDTHRU, SINGLE
1.25" BOLT

REVDWG NO.

R880-2301-3B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 7-2-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 7.13 

 2.00 

1/8" COMPRESSION
FITTINGS

BNC CONNECTOR

MICRODOT
CONNECTOR

63

1.25" BOLT FEEDTHROUGH
(1) MICRODOT TO BNC CONNECTOR
(3) 1/8" COMPRESSION FITTINGS

SINGLE WITH SHUTTER,
1.25" FEEDTHRU, UT

REVDWG NO.

R880-2301-4B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-24-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.00  5.00 

 12.00 

3/16" DIAMETER
TUBES

BNC CONNECTORMICRODOT
CONNECTOR

1.25" BOLT FEEDTHROUGH
(2) MICRODOT TO BNC CONNECTORS
(3) 3/16" DIAMETER TUBES

63

DUAL WITH SHUTTER, 1.25"
FEEDTHRU, 3/16" TUBES

REVDWG NO.

R880-2301-5B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 7-17-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.52 

BNC CONNECTOR

MICRODOT
CONNECTOR

1/8" COMPRESSION
FITTINGS

2-3/4" CONFLAT FLANGE
(1) MICRODOT TO BNC CONNECTOR
(2) 1/8" COMPRESSION FITTINGS

63

SINGLE, 2-3/4"
CFF, UT

REVDWG NO.

R880-2400-2B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-23-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.52 

BNC CONNECTOR

MICRODOT
CONNECTOR

1/8" COMPRESSION
FITTINGS

2-3/4" CONFLAT FLANGE
(1) MICRODOT TO BNC CONNECTOR
(3) 1/8" COMPRESSION FITTINGS

63

SINGLE WITH SHUTTER,
2-3/4" CFF, UT

REVDWG NO.

R880-2400-8B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-23-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



 2.52 

BNC CONNECTOR

MICRODOT
CONNECTOR

1/8" COMPRESSION
FITTINGS

2-3/4" CONFLAT FLANGE
(2) MICRODOT TO BNC CONNECTORS
(3) 1/8" COMPRESSION FITTINGS

63

DUAL WITH SHUTTER,
2-3/4" CFF, UT

REVDWG NO.

R880-2401-5B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-23-2014

FILE NUMBER        - 
INITIAL PROJECT  -

1 A

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES  

3.  BAG WITH PART NUMBER AND REVISION.     



CUSTOMER XX.XX
TO CENTER OF

CRYSTAL

 .50
12.700

 

 3.28
83.426

 

 7.00
177.800

 

1.075
27.305 1.000

25.400
 

 1.000
25.400

 

 .573
14.554

 

 .428
10.871

 

2.730
69.342

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 1

FILE NUMBER        - 
INITIAL PROJECT  -

880-3010-1
 

1-5-2016G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc R880-03010-1
DWG NO. REV

A

SINGLE BAKEABLE PARALLEL
SENSOR, ON 2-3/4" CFF

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA
                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4



CUSTOMER XX.XX
TO CENTER OF

CRYSTAL

 .500
12.700

 
 7.003

177.864
 

 3.285
83.426

 

2X 1/8" SST
COOLING LINE

BNC CONNECTOR

1.075
27.305

2.730
69.342

SINGLE RIGHT ANGLE
SENSOR, 2-3/4" CF

A
REVDWG NO.

R880-3020-1B SCALE

SHEET          of

3:4
1

MATERIAL:

FINISH:

SEE PARTS LIST
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 8-14-2017

880-3020-1
 

FILE NUMBER        - 
INITIAL PROJECT  -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS





 30.450
773.43

 

1.075
27.31

MICRODOT CONNECTOR 1/8" SST COOLING LINE

 .453
11.51

 

 .685
17.40

 

SINGLE PARALLEL SENSOR

A
REVDWG NO.

R880-3110-1B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

BOM
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

880-3110-1
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

telemark.com

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



 30.450
773.43

 

 31.700
805.18

 

 1.100
27.94

 

 .850
21.59

 

MICRODOT CONNECTOR

 1.160
29.46

 

 2.597
65.97

 

2X 1/8" SST
COOLING LINE

SHUTTER AIR LINE

SINGLE PARALLEL SENSOR
WITH SHUTTER

A
REVDWG NO.

R880-3120-1B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

BOM
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY    G. DION
CHECK BY
PROJ ENG
MFG  ENG

DATE    3-22-2016
DATE
DATE
DATE

880-3120-1
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



 30.473
774.01

 

 .563
14.30

 

1/8" SST COOLING LINE
MICRODOT CONNECTOR

1.075
27.31

.320
8.13

SINGLE RIGHT 
ANGLE SENSOR

A
REVDWG NO.

R880-3130-1B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

BOM
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

880-3130-1
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

telemark.com

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



 29.93  .56 

 .97  1.08 

MICRODOT CONNECTOR

3/16" DIAMETER
COOLING LINES

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

RIGHT ANGLE SENSOR
ASSEMBLY, 3/16" TUBES

A
REVDWG NO.

R880-3130-6

Battle Ground, WA

A SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

                INCHES    [ mm]
.XX       +/- 0.03       [ .762 ]
.XXX     +/- 0.01       [ 0.254 ]
.XXXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-21-2018

880-3130-2
 

FILE NUMBER        - 
INITIAL PROJECT  -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E

1

2

3



 2.59 

 1.16 

1/8" SST AIR LINE
PNEUMATIC
ACTUATOR

#6-32 UNC MOUNTING
HOLE, BOTH SIDES OF
SENSOR

 1.10 

 31.6 

 31.8 

1/8" SST COOLING LINE

1/8" SST COOLING LINE

2X MICRODOT
CONNECTORS

SHUTTER

63

DUAL PARALLEL SENSOR
WITH SHUTTER

A
REVDWG NO.

R880-3210-1B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 6-6-2017

R880-3210-1
 

FILE NUMBER        - 
INITIAL PROJECT  -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     



 2.88 

 3.75 

PNEUMATIC
ACTUATOR

1/8" SST AIR LINE

1/8" SST COOLING LINE

1/8" SST COOLING LINE

2X MICRO DOT
CONNECTORS

#6-32 UNC MOUNTING
HOLE, BOTH SIDES
OF SENSOR

 1.25 

SHUTTER

63

ASSEMBLY, DUAL SENSOR,
RIGHT ANGLE

B
REVDWG NO.

R880-3220-1B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 8-3-2016

880-3220-1
 

FILE NUMBER        - 
INITIAL PROJECT  -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     



11

14
12

7

6
1

9
10

8
4

5

2

13

15

3

63

CUSTOMER XX.XX
TO CENTER OF

CRYSTAL

 .50 

 3.28 

 7.00 

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5974-9 SCREW, #0-80 X 5/16" SST PHILLIPS PAN HEAD 1
2 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
3 271-6230-1 FLAT WASHER, #0, SST 1
4 271-6230-4 LOCK WASHER, #0, SST 1
5 271-6250-1 NUT, #8-80, SST 1
6 880-0119-1 SPRING, CRYSTAL HOLDER 1
7 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
8 880-0516-2 INSOLATOR, SPACER CONTACT 1
9 880-0518-1 SPRING CONTACT 1
10 880-0519-3 CERAMIC INSULATOR, RIGHT ANGLE SENSOR 1
11 880-0604-1 CRYSTAL HOLDER 1
12 880-0637-1 RETANING RING 1
13 880-0642-1 SENSOR BODY COVER 1
14 880-0639-1 SPRING, CRYSTAL 1
15 880-1031-1 WELD'T, SINGLE, ROTARY, 2-3/4" CFF, UHV 1

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 1

FILE NUMBER        - 
INITIAL PROJECT  -

880-3010-1
 

1-5-2016G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc 880-3010-1
DWG NO. REV

B

SINGLE BAKEABLE PARALLEL
SENSOR, ON 2-3/4" CFF

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4



13

15
14

9

8
1

11
12

17
62

10
5

7

3

18
16

19

4

63

CUSTOMER XX.XX
TO CENTER OF

CRYSTAL

 .50  5.00 

 7.00 

 .86  2.81 

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5974-9 SCREW, #0-80 X 5/16" SST PHILLIPS PAN HEAD 1
2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1
3 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
4 271-6230-1 FLAT WASHER, #0, SST 1
5 271-6230-4 LOCK WASHER, #0, SST 1
6 271-6237-4 WASHER, LOCK, #2, SST 1
7 271-6250-1 NUT, #8-80, SST 1
8 880-0119-1 SPRING, CRYSTAL HOLDER 1
9 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
10 880-0516-2 INSOLATOR, SPACER CONTACT 1
11 880-0518-1 SPRING CONTACT 1
12 880-0519-3 CERAMIC INSULATOR, RIGHT ANGLE SENSOR 1
13 880-0604-1 CRYSTAL HOLDER 1
14 880-0637-1 RETANING RING 1
15 880-0639-1 SPRING, CRYSTAL 1
16 880-0940-1 CLAMP BRACKET, BELLOWS ASSEMBLY 1
17 880-0941-1 SINGLE SHUTTER 1
18 880-0642-1 SENSOR BODY COVER 1
19 880-1030-1 WELD'T, SINGLE W/SHUTTER, ROTARY, 2-3/4" CFF, UHV 1

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 1

FILE NUMBER        - 
INITIAL PROJECT  -

880-3015-1
 

10-12-2015G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc 880-3015-1
DWG NO. REV

C

SINGLE BAKEABLE PARALLEL
SENSOR, w/SHUTTER ON 2-3/4" CFF

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4



9 12 10 6 11 1 8 7

15
5 7 2 3 14 4

13
4

63

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5978-9 Screw, #0-80 X 5/8" SST Phil Pan Head 1
2 271-6230-4 LOCK WASHER, #0, SST 1
3 271-6250-1 NUT, #8-80, SST 1
4 271-6002-7 Screw, #4-40 X 7/16" SST Phil Pan Head 2
5 568-2801-1 CERAMIC BEAD 4
6 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
7 880-0516-2 INSOLATOR, SPACER CONTACT 2
8 880-0518-1 SPRING CONTACT 1
9 880-0604-1 CRYSTAL HOLDER 1
10 880-0637-1 RETANING RING 1
11 880-0638-1 SPRING, CRYSTAL HOLDER 1
12 880-0639-1 SPRING, CRYSTAL 1
13 880-0642-3 SENSOR BODY COVER 1
14 880-0642-4 SENSOR BODY COVER 1
15 880-1031-2 WELD'T, SINGLE, Rt. ANGLE, 2-3/4" CFF, UHV 1

SINGLE, Rt. ANGLE,
2-3/4" CFF, UHV

A
REVDWG NO.

880-3020-1B SCALE

SHEET          of

3:4
1

MATERIAL:

FINISH:

SEE PARTS LIST
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 8-14-2017

880-3020-1
 

FILE NUMBER        - 
INITIAL PROJECT  -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     



3

18

16

7

5

10

2 6

19

12

11

1

8

9

14

15

13

17

CUT FEEDTHRU WIRE
TO LENGTH AND FORM
WIRE AROUND SCREW
AT ASSEMBLY
2 PLACES

4

63

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5974-9 SCREW, #0-80 X 5/16" SST PHILLIPS PAN HEAD 2

2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1

3 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2

4 271-6230-1 FLAT WASHER, #0, SST 2

5 271-6230-4 LOCK WASHER, #0, SST 2

6 271-6237-4 WASHER, LOCK, #2, SST 1

7 271-6250-1 NUT, #8-80, SST 2

8 880-0119-1 SPRING, CRYSTAL HOLDER 2

9 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 2

10 880-0516-2 INSOLATOR, SPACER CONTACT 2

11 880-0518-1 SPRING CONTACT 2

12 880-0519-3 CERAMIC INSULATOR, RIGHT ANGLE SENSOR 2

13 880-0604-1 CRYSTAL HOLDER 2

14 880-0637-1 RETANING RING 2

15 880-0639-1 SPRING, CRYSTAL 2

16 880-0742-1 SENSOR BODY COVER, DUAL 1

17 880-0760-1 ASSEMBLY, WELD, BAKEABLE DUAL SENSOR, 2-3/4" CFF 1

18 880-0940-1 CLAMP BRACKET, BELLOWS ASSEMBLY 1

19 880-0942-1 SHUTTER, SINGLE 1

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 

FILE NUMBER        - 
INITIAL PROJECT  -

880-3030-1
 

7-17-2015G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1:1
SHEET          of

SCALED 880-3030-1
DWG NO. REV

C

ASSEMBLY, DUAL SENSOR
W/SHUTTER, 2-3/4" CFF, BAKEABLE

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
   
3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B C D GFE H I

1

2

3

4

5

1 1



13
15

14
9

8
1

11
12

17
62

10
5

7

3

18
16

19

4

63

CUSTOMER XX.XX
TO CENTER OF

CRYSTAL

 6.75 

 4.75  .75 

 2.56  .86 

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5974-9 SCREW, #0-80 X 5/16" SST PHILLIPS PAN HEAD 1
2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1
3 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
4 271-6230-1 FLAT WASHER, #0, SST 1
5 271-6230-4 LOCK WASHER, #0, SST 1
6 271-6237-4 WASHER, LOCK, #2, SST 1
7 271-6250-1 NUT, #8-80, SST 1
8 880-0119-1 SPRING, CRYSTAL HOLDER 1
9 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1

10 880-0516-2 INSOLATOR, SPACER CONTACT 1
11 880-0518-1 SPRING CONTACT 1
12 880-0519-3 CERAMIC INSULATOR, RIGHT ANGLE SENSOR 1
13 880-0604-1 CRYSTAL HOLDER 1
14 880-0637-1 RETANING RING 1
15 880-0639-1 SPRING, CRYSTAL 1
16 880-0940-1 CLAMP BRACKET, BELLOWS ASSEMBLY 1
17 880-0941-1 SINGLE SHUTTER 1
18 880-0642-1 SENSOR BODY COVER 1
19 880-1020-1 ASSEMBLY, WELD, BAKEABLE SENSOR, 4.5" CFF 1

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 1

FILE NUMBER        - 
INITIAL PROJECT  -

880-3045-1
 

10-12-2015G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc 880-3045-1
DWG NO. REV

C

SINGLE BAKEABLE PARALLEL
SENSOR, w/SHUTTER ON 4.5" CFF

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4



16

7

3

14

9

6

15

10

11

2

17

8

5
4

13

12

1

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5974-9 SCREW, #0-80 X 5/16" SST PHILLIPS PAN HEAD 1
2 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
3 271-6230-1 FLAT WASHER, #0, SST 1
4 271-6230-4 LOCK WASHER, #0, SST 1
5 271-6250-1 NUT, #8-80, SST 1
6 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
7 880-0119-1 SPRING, CRYSTAL HOLDER 1
8 880-0516-2 INSOLATOR, SPACER CONTACT 1
9 880-0518-1 SPRING CONTACT 1

10 880-0519-3 CERAMIC INSULATOR, RIGHT ANGLE SENSOR 1
11 880-0539-3 MICRODOT CONN. 1
12 880-0547-1 WIRE 1
13 880-0604-1 CRYSTAL HOLDER 1
14 880-0637-1 RETANING RING 1
15 880-0639-1 SPRING, CRYSTAL 1
16 880-0640-1 SENSOR BODY ASSEMBLY 1
17 880-0642-1 SENSOR BODY COVER 1

PARALLEL SENSOR
ASSEMBLY

D
REVDWG NO.

880-3110-1B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

BOM
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

880-3110-1
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

telemark.com

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



18

9

4

16

11

8

17

12

13

20
19

10

7

5

15

14

1

22

6

2 21

3

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5974-9 SCREW, #0-80 X 5/16" SST PHILLIPS PAN HEAD 1
2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1
3 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
4 271-6230-1 FLAT WASHER, #0, SST 1
5 271-6230-4 LOCK WASHER, #0, SST 1
6 271-6237-4 WASHER, LOCK, #2, SST 1
7 271-6250-1 NUT, #8-80, SST 1
8 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
9 880-0119-1 SPRING, CRYSTAL HOLDER 1
10 880-0516-2 INSOLATOR, SPACER CONTACT 1
11 880-0518-1 SPRING CONTACT 1
12 880-0519-3 CERAMIC INSULATOR, RIGHT ANGLE SENSOR 1
13 880-0539-3 MICRODOT CONN. 1
14 880-0547-1 WIRE 1
15 880-0604-1 CRYSTAL HOLDER 1
16 880-0637-1 RETANING RING 1
17 880-0639-1 SPRING, CRYSTAL 1
18 880-0640-1 SENSOR BODY ASSEMBLY 1
19 880-0642-1 SENSOR BODY COVER 1
20 880-0910-1 ASSEMBLY, WELD, BELLOWS THIRD STAGE 1
21 880-0940-1 CLAMP BRACKET, BELLOWS ASSEMBLY 1
22 880-0941-1 SINGLE SHUTTER 1

PARALLEL SENSOR
ASSEMBLY W/SHUTTER

C
REVDWG NO.

880-3120-1B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

BOM
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY    G. DION
CHECK BY
PROJ ENG
MFG  ENG

DATE    3-22-2016
DATE
DATE
DATE

880-3120-1
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



10

1

8

5

2

9

4

6

7

3

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5973-9 SCREW, PAN HD PHILLIPS, #0-80 UNC x 3/16" LONG, SST 1
2 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
3 880-0119-1 SPRING, CRYSTAL HOLDER 1
4 880-0516-2 INSOLATOR, SPACER CONTACT 1
5 880-0518-1 SPRING CONTACT 1
6 880-0604-1 CRYSTAL HOLDER 1
7 880-0634-1 COAXIAL CONNECTOR ASSEMBLY 1
8 880-0637-1 RETANING RING 1
9 880-0639-1 SPRING, CRYSTAL 1
10 880-0640-2 SENSOR BODY ASSEMBLY 1

RT. ANGLE SENSOR
ASSEMBLY

E
REVDWG NO.

880-3130-1B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

BOM
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

880-3130-1
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

telemark.com

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



10

1

8

5

2

9

4

6

7

3

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5973-9 SCREW, PAN HD PHILLIPS, #0-80 UNC x 3/16" LONG, SST 1
2 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
3 880-0119-1 SPRING, CRYSTAL HOLDER 1
4 880-0516-2 INSOLATOR, SPACER CONTACT 1
5 880-0518-1 SPRING CONTACT 1
6 880-0604-1 CRYSTAL HOLDER 1
7 880-0634-1 COAXIAL CONNECTOR ASSEMBLY 1
8 880-0637-1 RETANING RING 1
9 880-0639-1 SPRING, CRYSTAL 1
10 880-0640-6 SENSOR BODY ASSEMBLY, RIGHT ANGLE, 3/16" TUBES 1

RIGHT ANGLE SENSOR
ASSEMBLY, 3/16" TUBES

C
REVDWG NO.

880-3130-6B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

BOM
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

880-3130-6
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

telemark.com

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



10

7

13

12

1

9

8

6

55
17

3

18

2

4
16 3

14

15

11

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5973-9 SCREW, PAN HD PHILLIPS, #0-80 UNC x 3/16" LONG, SST 1
2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1
3 271-5999-1 VENTED SCREW, #4-40 UNC X 1/4" SST SHCS 2
4 271-6237-4 WASHER, LOCK, #2, SST 1
5 271-6251-1 NUT, HEX, #4-40 UNC, SST 2
6 880-0119-1 SPRING, CRYSTAL HOLDER 1
7 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 1
8 880-0516-2 INSOLATOR, SPACER CONTACT 1
9 880-0518-1 SPRING CONTACT 1
10 880-0604-1 CRYSTAL HOLDER 1
11 880-0634-1 COAXIAL CONNECTOR ASSEMBLY 1
12 880-0637-1 RETANING RING 1
13 880-0639-1 SPRING, CRYSTAL 1
14 880-0640-6 SENSOR BODY ASSEMBLY, RIGHT ANGLE, 3/16" TUBES 1
15 880-0910-4 ASSEMBLY, WELD, BELLOWS THIRD STAGE 1
16 880-0941-2 SHUTTER, SINGLE 1
17 880-0944-1 SHUTTER BRACKET A, RIGHT ANGLE SENSOR 1
18 880-0944-2 SHUTTER BRACKET B, RIGHT ANGLE SENSOR 1

RIGHT ANGLE SENSOR ASSEMBLY
W/SHUTTER, 3/16" TUBES

C
REVDWG NO.

880-3140-1B SCALE

SHEET          of
1:1

1

MATERIAL:

FINISH:

SEE PARTS LIST
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY    G. DION
CHECK BY
PROJ ENG
MFG  ENG

DATE    8-14-2018
DATE
DATE
DATE

880-3140-1
 

FILE NUMBER       - 
INITIAL PROJECT -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

telemark.com

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .25
    SURF FINISH    63 RMS



14

16

15

8

9 1

11

122

6

23

10

5

7

18

21

22

3

20
19

13

17

AA

SECTION A-A
SCALE 3 : 1

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5974-9 SCREW, #0-80 X 5/16" SST PHILLIPS PAN HEAD 2
2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1
3 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
4 271-6230-1 FLAT WASHER, #0, SST 2
5 271-6230-4 LOCK WASHER, #0, SST 2
6 271-6237-4 WASHER, LOCK, #2, SST 1
7 271-6250-1 NUT, #8-80, SST 2
8 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 2
9 880-0119-1 SPRING, CRYSTAL HOLDER 2
10 880-0516-2 INSOLATOR, SPACER CONTACT 2
11 880-0518-1 SPRING CONTACT 2
12 880-0519-3 CERAMIC INSULATOR, RIGHT ANGLE SENSOR 2
13 880-0539-3 MICRODOT CONN. 2
14 880-0604-1 CRYSTAL HOLDER 2
15 880-0637-1 RETANING RING 2
16 880-0639-1 SPRING, CRYSTAL 2
17 880-0740-1 ASSEMBLY, WELD, SENSOR BODY, DUAL 1
18 880-0742-1 SENSOR BODY COVER, DUAL 1
19 880-0745-1 CONTACT WIRE, SHORT, .031 DIAMETER 304 SST WIRE 1
20 880-0746-1 CONTACT WIRE, LONG, .031 DIAMETER 304 SST WIRE 1
21 880-0910-1 ASSEMBLY, WELD, BELLOWS THIRD STAGE 1
22 880-0940-1 CLAMP BRACKET, BELLOWS ASSEMBLY 1
23 880-0942-1 SHUTTER, SINGLE 1

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 

FILE NUMBER        - 
INITIAL PROJECT  -

880-3210-1
 

7-27-2015G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE PARTS LIST
FINISH:

MATERIAL:

1.25:1
SHEET          of

SCALED 880-3210-1
DWG NO. REV

D

DUAL PARALLEL SENSOR
WITH SHUTTER

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B C D GFE H I

1

2

3

4

5

1 1



9

12

11

6

1

8

7

5

13

14

16

4

2

15

10

3

63

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5973-9 SCREW, PAN HD PHILLIPS, #0-80 UNC x 3/16" LONG, SST 2
2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1
3 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
4 271-6237-4 WASHER, LOCK, #2, SST 1
5 880-0119-1 SPRING, CRYSTAL HOLDER 2
6 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 2
7 880-0516-2 INSOLATOR, SPACER CONTACT 2
8 880-0518-1 SPRING CONTACT 2
9 880-0604-1 CRYSTAL HOLDER 2

10 880-0634-1 COAXIAL CONNECTOR ASSEMBLY 2
11 880-0637-1 RETANING RING 2
12 880-0639-1 SPRING, CRYSTAL 2
13 880-0740-3 SENSOR BODY ASSEMBLY, DUAL, RIGHT ANGLE 1
14 880-0910-4 ASSEMBLY, WELD, BELLOWS THIRD STAGE 1
15 880-0940-1 CLAMP BRACKET, BELLOWS ASSEMBLY 1
16 880-0942-2 SHUTTER, DUAL 1

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 1

FILE NUMBER        - 
INITIAL PROJECT  -

880-3220-1
 

8-3-2016G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc 880-3220-1
DWG NO. REV

D

ASSEMBLY, DUAL SENSOR,
RIGHT ANGLE

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4



8

12

10

5

1

7

6

11

13

14

16

4

2

15

9

3

63

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 271-5973-9 SCREW, PAN HD PHILLIPS, #0-80 UNC x 3/16" LONG, SST 2
2 271-5989-9 VENTED SCREW, #2-56 X 5/16" SST SHCS 1
3 271-5998-1 VENTED SCREW, #4-40 X 1/8" SST. SHCS 2
4 271-6237-4 WASHER, LOCK, #2, SST 1
5 880-0201-1 6MHz GOLD COATED SENSING CRYSTAL 2
6 880-0516-2 INSOLATOR, SPACER CONTACT 2
7 880-0518-1 SPRING CONTACT 2
8 880-0604-1 CRYSTAL HOLDER 2
9 880-0634-1 COAXIAL CONNECTOR ASSEMBLY 2

10 880-0637-1 RETANING RING 2
11 880-0119-1 SPRING, CRYSTAL HOLDER 2
12 880-0639-1 SPRING, CRYSTAL 2
13 880-0740-4 SENSOR BODY ASSEMBLY, DUAL, RIGHT ANGLE, 3/16" TUBES 1
14 880-0910-4 ASSEMBLY, WELD, BELLOWS THIRD STAGE 1
15 880-0940-1 CLAMP BRACKET, BELLOWS ASSEMBLY 1
16 880-0942-2 SHUTTER, DUAL 1

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 1

FILE NUMBER        - 
INITIAL PROJECT  -

880-3221-1
 

5-19-2017G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

SEE NOTES

SEE PARTS LIST
 

FINISH:

MATERIAL:

1
1:1

SHEET          of

SCALEc 880-3221-1
DWG NO. REV

C

ASSEMBLY, DUAL SENSOR,
RIGHT ANGLE, 3/16" TUBES

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distribetd without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts anddetails are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

Battle Ground, WA

NOTES:  (UNLESS OTHERWISE SPECIFIED)
1.  REMOVE BURRS & BREAK ALL SHARP EDGES 
     .005-.015 RADIUS OR CHAMFER.

2.  ALL SURFACES
  
3.  BAG WITH PART NUMBER AND REVISION.     

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B EDC F G

1

2

3

4


	274 Multi Pocket E-Beam Drawings.pdf
	Sheet1
	Sheet2
	274-9901-1A.PDF
	Sheet1

	274-9902-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9905-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9906-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9907-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9908-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9911-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9912-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9913-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9914-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9917-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9918-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9919-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9920-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9923-1a.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9924-1a.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9927-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9928-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9931-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9932-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9961-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9962-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9901-1SSC-A1.PDF
	Sheet1
	Drawing View2
	Drawing View3


	274-9902-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9905-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9906-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9907-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9908-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9911-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9912-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9919-1SSC-a1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9920-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9927-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9928-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9961-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9962-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	273-0150-8A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0113-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0115-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0125-1B.PDF
	Sheet1
	Drawing View2
	Drawing View4


	274-0125-4B.PDF
	Sheet1
	Drawing View2
	Drawing View4


	274-0133-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0135-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	291-0127-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-5175-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5
	Drawing View7


	291-3150-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	274-0300-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	274-0300-X-D.PDF
	Sheet1
	Drawing View3
	Drawing View5



	R264-0001A1.PDF
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet2
	Drawing View6


	264-9901-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9902-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9905-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9906-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9907-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9908-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9911-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9912-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9913-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9914-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9915-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9916-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9927-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9928-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9955-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9956-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	261-0127-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0113-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0115-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0133-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0135-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	265-0125-1A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	273-0150-8A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-9906-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-5175-1B1.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5


	291-3151-1C.PDF
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5


	R294-0003B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View7


	294-9901-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9902-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9905-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9906-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9907-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9908-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9917-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9918-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9944-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9945-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9969-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9970-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9975-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9976-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9979-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9980-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9993-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9994-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	273-0150-8A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0113-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0115-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0125-3A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0127-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0133-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0135-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9901-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9902-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9917-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9918-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9944-2SSC-B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9945-2SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9945-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9969-2SSC-B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9970-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	291-3150-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	294-5175-1a.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	294-0300-XD.PDF
	Sheet1
	Drawing View2
	Drawing View3


	R508-0000B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	508-9901-1B.PDF
	Sheet2
	Drawing View5


	508-3150-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	R508-0112a1.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	R509-0001A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	R509-0117A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5
	Detail View A (1 : 1)


	509-9904-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	509-3150-1A.PDF
	Sheet1
	Drawing View1


	568-9906-1C.PDF
	Sheet3
	Drawing View15

	Sheet2
	Drawing View8

	Sheet1
	Drawing View12
	Drawing View13


	568-9905-1C.PDF
	Sheet3
	Drawing View5

	Sheet2
	Drawing View1

	Sheet1
	Drawing View3
	Drawing View4


	568-9904-1C.PDF
	Sheet3
	Drawing View7

	Sheet2
	Drawing View1

	Sheet1
	Drawing View5
	Drawing View6


	568-9903-1C1.PDF
	Sheet3
	Drawing View5

	Sheet2
	Drawing View1

	Sheet1
	Drawing View2
	Drawing View4


	568-9902-1C.PDF
	Sheet3
	Drawing View5

	Sheet2
	Drawing View1

	Sheet1
	Drawing View2
	Drawing View4


	568-9901-1C.PDF
	Sheet3
	Drawing View4

	Sheet2
	Drawing View1

	Sheet1
	Drawing View2
	Drawing View3


	568-9901-1C.PDF
	Sheet3
	Drawing View4

	Sheet2
	Drawing View1

	Sheet1
	Drawing View2
	Drawing View3


	568-9902-1C.PDF
	Sheet3
	Drawing View5

	Sheet2
	Drawing View1

	Sheet1
	Drawing View2
	Drawing View4


	568-9903-1C1.PDF
	Sheet3
	Drawing View5

	Sheet2
	Drawing View1

	Sheet1
	Drawing View2
	Drawing View4


	568-9904-1C.PDF
	Sheet3
	Drawing View7

	Sheet2
	Drawing View1

	Sheet1
	Drawing View5
	Drawing View6


	568-9905-1C.PDF
	Sheet3
	Drawing View5

	Sheet2
	Drawing View1

	Sheet1
	Drawing View3
	Drawing View4


	568-9906-1C.PDF
	Sheet3
	Drawing View15

	Sheet2
	Drawing View8

	Sheet1
	Drawing View12
	Drawing View13


	397-1600-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	397-1600-1B.PDF
	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4


	213-0150-5A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	213-0150-4B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	R575-0001A3.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View8
	Drawing View9
	Drawing View10


	273-0150-3A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	397-1600-1B.PDF
	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4


	397-1600-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	575-0133-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	575-0133-2B.PDF
	Sheet1
	Drawing View3
	Drawing View4


	575-0140-1A1.PDF
	Sheet1
	Drawing View12
	Drawing View13


	575-0140-2A2.PDF
	Sheet1
	Drawing View12
	Drawing View13


	575-0370-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	575-0370-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	575-0388-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	575-0388-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	575-0500-1E.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5

	Sheet2
	Drawing View6


	575-2497-2D.PDF
	Sheet1
	Drawing View5
	Drawing View9


	575-2497-3D.PDF
	Sheet1
	Drawing View5
	Drawing View9


	575-9901-1A1.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


	575-9902-1A1.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


	575-9903-1A1.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


	575-9904-1A1.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


	575-9905-1A1.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


	575-9906-1A1.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


	575-9907-1A.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10


	575-9908-1A.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10


	575-9909-1A.PDF
	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10


	R880-2100-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-2100-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-3220-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-3210-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-3130-6A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	R880-3130-1A.PDF
	Sheet1
	Drawing View1
	Drawing View4
	Drawing View5
	Drawing View6


	R880-3120-1A.PDF
	Sheet1
	Drawing View3
	Drawing View5


	R880-3110-1A.PDF
	Sheet1
	Drawing View3
	Drawing View5


	R880-3020-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	R880-3010-1A.PDF
	Sheet1
	Drawing View2
	Drawing View3


	R880-2401-5A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2400-8A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2400-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2301-5A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-2301-4A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2301-3A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-2301-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2301-0A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2300-7A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-2300-5A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2101-6A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2101-5A1.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2100-8A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-2100-7A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-2100-6A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	R880-2100-5A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	R880-2100-4A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	880-3221-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4


	880-3220-1D.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4


	880-3210-1D.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Section View A-A


	880-3140-1C.PDF
	Sheet1
	Drawing View1


	880-3130-6C.PDF
	Sheet1
	Drawing View1


	880-3130-1E.PDF
	Sheet1
	Drawing View1


	880-3120-1C.PDF
	Sheet1
	Drawing View1


	880-3110-1D.PDF
	Sheet1
	Drawing View1


	880-3045-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	880-3030-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2


	880-3020-1A.pdf
	Sheet1
	Drawing View1


	880-3015-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2


	880-3010-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2



